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1. Find the complex Fourier series of the periodic function
1 forO<st<r

x()=40 forr<e<T : (A 10 %)
x(¢t+T) forall t

2. Find the Fourier transform of f ()=re? I, (A7 10 %)
' 1 =10 ‘ '
3. Let A=[ [ 4 ] (A8 15 %)

(1) find the determinant of A , |A| =? %)
(2) find the eigenvalues and eigenvectors of the matrix 4, (5 %°)

(3) Pis a matrix having the eigenvectors as columns, find P and P™', then
diagonalize the matrix 4. (5§ %)

1 =10 T !
4. Let A= cx=|7, 6=]5 ) ChAL 15 %)
-1 4 X, e

(1) find a fundamental matrix, Q(¢),for X'=A4AX, (5 %)
(2) find the general solution of X'= AX +G by matrix methods. (10 4-)

5. Solve the initial value problem: y'=3x? ~2 for x>0 with y(O=4. (KA
. : x
10 4) | -
6. Find the general solution of the differential equation: y"—4y'+4y=5¢**. (DO
NOT use the Laplace transform method) (A&7 10 %)

7. Find the genéral solution of the differential equation: y"—3y'+2 y=cos(e™). "
(DO NOT use the Laplace transform method)  (&#8 10 %)

242, 0<t<?2

10 &
1-¢t-3*, =2 (A 10 )

8. Find the Laplace transform of f(¢)= {

9. Use the Laplace transform method to solve the initial value problem:
y'—4y'+13y=45@1-3); y(0)=)'(0)=1, where &(¢) isthe Dirac Delta
function. (%8 10 %) ‘
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4. £3##83% . (a) apparent earth pressure envelop (b)) anchored sheet pile wall ( ¢) negative
. skin friction of pile (d) pile group efficiency (e) braced cut - [10 4]

5. BRI () FRZBREERSW T EFTRBE? SV HEZERME? —Rd S5
HHEmAzEERE? (b) PB4 (displacement piles ) ﬁﬁtﬁcﬁ%
(non-displacement piles) ? [10 4]

6. B B ATTREN R P AT RE KARKS 0 WA B B iR K 1 (a) B iﬁi)’]’ﬁ‘ﬁﬁ (b)
BIEAEERFED (c) BEMBREAEIHSRAF X - [15 2]
7. w@B CATEER FXIREIE  HEEA 405mmx405mm » HKFFH ¢

(a) BRASEREQ, (31 0, =9%,4,)
(b) 45 ass RIBMIE L BB Q (3! f=ac, ~a2HD):
() R ARRIBBIESEEQ (38 f=A(F,+2,) L %4HBE)-

[15 %]
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BRa B EAHAET  HFaBR bWz w A - BAKFARLKAT & [20 9]

Om- M Surcharge = 100 kPa

= | Sand: G, =2.70, a)-SO%
7= 17 KN/, 7 o= 19 KN/m®

NCClay. G, =265, w= ?0%
7 2= o= 18 kN/m’
PL =30 (%), PI=40 (%)
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Bi(a) bReSVE2FEARABMBA AT ? (b) %ok % 200kPa s BEHEA - REE
EA8m BEPSTARREZELBAHBAM? 10 H] :
o B UL B2 ep=18 K=10" cm/sec ' B ERBE0BRELS (p)) £
Mt (e) ZBith% @ % p'=50kPatre=1.8: % p'=150kPatfre=1.6 3®E: (a)
BEGHC=2m74;(b) $FHBRET 2k Un=95%8 > EBH/E? [15 4]
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Al EEBBURN > BK D (a) BEES o @)ﬁ%%%*ﬁAwl&w)%
F%- 7&&$${Aw [15 7] .
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[10 2]



mailto:1'F~~@!..:r

	未命名.PDF.pdf
	be

